Editor decision HESS-2024-110
Dear authors, two referees have assessed the revisions you made to the manuscript, one of them being mostly satisfied except a couple of remaining remarks, the other not entirely. When reading the revised manuscript myself I ran into a couple of issues that made it hard to understand the reasoning. I ask you to address the comments and suggestions made by reviewer #1 and address additional comments as follows (line numbers refer to manuscript version with tracked changes):
· Line 51: “one of the main physical involved in..” : noun missing after physical

· Line 53: <50cm-3 50 cm-3 …Is there a typo here? 

· Line 56-57: please explain why the MBL has to be well mixed for advective fog formation? You provide a very strict limit for well-mixed versus stratification (<3.1 10-3 K/m) – how accurate and how generally valid is this limit? Please clarify. 

· Iine 60-61: you state that liquid water content peaks at the cloud top at ~0.7g kg-1 Same question here: please clarify how generally valid is this statement

· In section 2 (lines 85-90): please explicitly state the aim of the model here. 

· For the equations: make sure to explain all symbols used in the equations and clarify their units 
· The term “fog occurrence” is used a lot without explaining  the reference time period for which the frequency is calculated (frequency is typically defined as nr of occurrence per time period). Please provide a clear definition of fog occurrence
· Figure 3: clarify what data (and model outputs) are behind the statistics shown in the Taylor diagram, incl the number of data points used. 
In the figure caption clarify which “line” you mean in “Note that … placing behind the line and ….”
· Section 2.1.1 Fog cover fraction frequency. Consider using a different term. What is a “fraction frequency..”?

· In 2.1.1. percentages are used to for occurrence (In line 156: fog occurrence (in %) – why not frequency as before? Especially because you % a lot in section 3 to discuss disagreements between observations and model. It can be confusing.. 

· Equations 9 and 11: are you sure these constants are accurate enough to use so many digits? Also, make sure to explain how these constants were determined. 

· Section 3, line 356: “disagreements with observations by 1% to 20%. The units in the figure are not %, so these percentages refer to what, exactly..? 

· Iine 361, 362: errors around 0.39 lm-2d-1(20%), (…) errors of 2 lm-2d-1 (18%). Where exactly do these values come from? What do the %-s mean, % of what? 

· Line 364: observed rates 4 to 9 (..) – I can’t relate this range to the figure, for site A? How did you find the range that you’re reporting here?  
General  comment: make sure to check spelling and grammar throughout theh document. There are many instances where plural is used instead of singular and vice versa, in some sections past and present tense are mixed.
